Post(a) 01RA11 , inclusive ADC a01RA11
1 Entries 504000
B Mean 0.5
B : : RMS 0
0.5 Al S A— Integral 5.04e+05
N : : X2 / ndf 1.065e-13 /-2
— Constant 5.04e+05+ 710
o Mean 0.5+ 74.5
- Sigma 1.5+ 2.0
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ADC-ped
Post(d) 01RA11 , ADC, tag: UxV 2*thr dO1RA11
1 Entries 224
B Mean 0
— RMS 0
05 il e Integral 224
- X2 / ndf 0/-3
- ampl-G 224+ 15.0
ol ] .caonst-L 0+5.7
— MPV-L 0+14
N sig-L 0+1.4
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| Post(a) 01RB11, inclusive ADC
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Entries
Mean

RMS
Integral

X2 [ ndf

504000
0.5676
2.416
5.04e+05
21/2

Constant 6.014e+06+ 125879

Mean 0.5388+ 0.0002
Sigma 0.01744 + 0.00007
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| Post(d) 01RB11, ADC, tag: UxV 2*thr | dO1RB11
— Entries 243
- R T T Mean 17.5
= RMS 34.45
A Integral 242
e T IS SR X2 I ndf 15.5/ 24
4 N N 0 1 O A ampl-G 335.6 + 26.8
= const-L 19.64 + 4.47
e I MPV-L 30.61+ 6.28
= S TN sig-L 18.54 + 7.02
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Post(a) 01RC11,

inclusive ADC
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Entries
Mean

RMS
Integral

X2 [ ndf

504000
0.5697
2.381
5.04e+05
10/2

Constant 7.022e+06 + 146823

Mean 0.5309 + 0.0001
Sigma 0.01348 + 0.00005
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ADC-ped
dO1RC11
Entries 250
Mean 12.82
RMS 26.99
Integral 248
X2 / ndf 14.84 /21
ampl-G 358.3+27.4
const-L 24.71+ 5.18
MPV-L 28.98 + 3.98
sig-L 13.04+ 3.12
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| Post(a) 01RD11, inclusive ADC
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a01RD11
— Entries 504000
e [ Mean 0.5682
e I S S RMS 2.461
e, Integral 5.04e+05
= T e X2 / ndf 16/ 2
— Constant 8.123e+06+ 169678
— | Mean 0.5281+ 0.0001
— 1t Sigma 0.01193+ 0.00004
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ADC-ped
[ Post(d) 01RD11, ADC, tag: UxV 2*thr | dO1RD11
=TT Entries 252
=1 H S N Mean 12.47
= RMS 26.4
S L I A Integral 249
e 00 0 NN x2 [ ndf 20.89 /21
= 1 L T ! K O T ampl-G 184 + 13.7
= const-L 13.99 + 4.01
=5 34.22 + 8.27
= 19.09 + 10.31
= |
200




Post(a) 01RE11 , inclusive ADC
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a0l1RE11
Entries 504000
Mean 0.562
RMS 2.222
Integral 5.04e+05
X2 [ ndf 13/2

Constant 7.319e+06 + 152989
Mean 0.5302 + 0.0001

0.01306 + 0.00005
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N
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ADC-ped
dO1RE11
Entries 221
Mean 9.05
RMS 22.12
Integral 221
X2 [ ndf 12.1/17
ampl-G 166.4+ 13.1

const-L 1.638e+06 + 3563643
MPV-L -108.9+ 75.7

------

sig-L 0.1609+ 0.1771




Post(a) 02RA11 , inclusive ADC aO2RA11
1 Entries 504000
B Mean 0.5
B : : RMS 0
0.5 Al S A— Integral 5.04e+05
N : : X2 / ndf 1.065e-13 /-2
— Constant 5.04e+05+ 710
o Mean 0.5+ 74.5
B Sigma 1.5+ 2.0
_0_5__ .................................................................................................................................................
AT . . . o
0 50 100 150 200
ADC-ped
Post(d) 02RA11 , ADC, tag: UxV 2*thr dO2RA11
1 Entries 225
B Mean 0
— RMS 0
05 il e Integral 225
- X2 / ndf 0/-3
— ampl-G 225+ 15.0
ol ] .caonst-L 0+5.7
— MPV-L 0+14
N sig-L 0+1.4
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| Post(a) 02RB11, inclusive ADC a02RB11
24 : Entries 504000
g Em e e Mean 0.5685
20 =g e RMS 2.454
DT S OO O SO S Integral 5.04e+05
6 x? / ndf 21/2
= Constant 7.487e+06 + 156498
iz Mean 0.5297 + 0.0001
12 = Sigma 0.01276 + 0.00005
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ADC-ped
Post(d) 02RB11, ADC, tag: UxV 2*thr dO2RB11
= : Entries 228
L e Mean 9.902
- : RMS 23.83
e Integral 225
F X2/ ndf 7.719/19
= ampl-G 345.7+ 27.7
py const-L 22.83 + 98.87
— MPV-L -17.27 £ 388.80
31— Sig-!- 26.08 + 20.34
E | S
13 B
0= T —T T




| Post(a) 02RC11, inclusive ADC
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a02RC11
Entries 504000
Mean 0.5648
RMS 2.322
Integral 5.04e+05
X2 [ ndf 15/2

Constant 6.754e+06 + 141323

100

Post(d) 02RC11, ADC, tag: UxV 2*thr |

C)LIITIIII|IIII|IIII|IIII|IIII|IIII|II

Mean 0.5378+ 0.0002
Sigma 0.01657 + 0.00007
. Mn‘!‘rﬂl“hﬂm HW Il nﬂn [ i” .nn”
150 200
ADC-ped
d02RC11
Entries 232
Mean 10.27
RMS 25.19
Integral 231
X2/ ndf 13.77 119

509.3+ 38.5
27.73 + 9.55

ampl-G
const-L

R AR R AR R AR R R R SRR RRARERAREER TR R R RN

MPV-L 24,65+ 2.73
sig-L 7.199 + 2.806
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| Post(a) 02RD11, inclusive ADC
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a02RD11
Entries 504000
Mean 0.5672
RMS 2.392
Integral 5.04e+05
X2 [ ndf 21/2
Constant 8.438e+06+ 176279
Mean 0.5276 + 0.0001

Sigma 0.01162+ 0.00004
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[ Post(d) 02RD11, ADC, tag: UxV 2*thr | dO2RD11
Entries 280
EEHE Mean 13.45
— RMS 29.67
I Integral 279
— X2 / ndf 211.6/24
I e A ampl-G 6.21+ 2.58
~ const-L 22.28 + 4.44
— MPV-L 34.44 + 4,50
- sig-L 13.17 + 3.16
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| Post(a) 02RE11, inclusive ADC
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a02RE11
Entries 504000
Mean 0.567
RMS 2.405
Integral 5.04e+05
X2 [ ndf 15/1
Constant 7.198e+06 + 150479
Mean 0.5304 + 0.0001
Sigma 0.0132+ 0.0001
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[ Post(d) 02RE1L, ADC, tag: UxV 2*thr dO02RE11
— Entries 264
= Mean 8.608
= RMS 23.05
= Integral 263
= x2 | ndf 11.53/21
= ampl-G 399.8+ 27.6
= const-L  2.233e+04 + 49044
= MPV-L -265.7 + 203.8
= sig-L 2.564 + 2.798
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Post(a) 03RA11 , inclusive ADC
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aO3RA11
Entries 504000
Mean 0.5632
RMS 2.233
Integral 5.04e+05
X2 / ndf 12/2
Constant 7.656e+06 + 160021
Mean 0.5293 + 0.0001

Sigma 0.01255 + 0.00005
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ADC-ped
Post(d) 03RA11, ADC, tag: UxV 2*thr | dO3RA11
— Entries 243
1 R el S S Mean 12.18
- 3 RMS 24.06
. Integral 242
:—E _________________________________________________________________________________ X2 / ndf 11.55/20
— |8 ampl-G 490.3 = 37.6
— | const-L 29.02 + 6.09
- | MPV-L 26.55+ 3.22
— s sig-L 19.89+2.19
al’ L de_'ﬂ ------ peeceen [ ] |
0 50 100 150 200
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| Post(a) 03RB11, inclusive ADC
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aO3RB11
Entries 504000
Mean 0.5657
RMS 2.347
Integral 5.04e+05
X2 [ ndf 2412
Constant 6.365e+06 + 133209
Mean 0.5383+ 0.0002

Sigma 0.01701+ 0.00007
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[ Post(d) 03RBIL, ADC, tag: UxV 2*thr

10

dO3RB11

M'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

.................................................................................

Entries 269

Mean 12.95
RMS 28.34

Integral 265
X2 / ndf 16.5/24

ampl-G 355.1+ 25.8
const-L 15.61+ 3.48
MPV-L 32.4+10.3

sig-L 22.02 + 9.65




| Post(a) 03RC11, inclusive ADC

25

aO3RC11
Entries 504000
Mean 0.5684
RMS 2.423
Integral 5.04e+05
X2 [ ndf 20/ 2

Constant 7.761e+06+ 162340

10

"""""""""""""""""""""""""""""""""""""""""" Mean 0.5359+ 0.0001
Sigma 0.01534 + 0.00006
[ O 8 W
100 150 200
ADC-ped
Post(d) 03RC11, ADC, tag: UxV 2*thr | dO3RC11
= Entries 274
S 1 S N VO S Mean 13.04
E | RMS 31.11
E_: ''''''''''''''''''''''''''''''''''' Integral 272
= e It SRR X2/ ndf 20.15/ 20
=} S B A S ampl-G 2429+ 17.3
=t const-L 13.2+ 2.9
Y o MPV-L 37.4+20.4
= R SRR sig-L 35.36 + 28.30
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| Post(a) 03RD11, inclusive ADC a0O3RD11
24 = Entries 504000
= Mean 0.5605
20 = RMS 2.211
N Integral 5.04e+05
= X? I ndf 21/1
= Constant 6.132e+06 + 128338
= Mean 0.5387 + 0.0002
ié = ' 0.0173+ 0.0001
Y=
==
1E
JE
0
ADC-ped
[ Post(d) 03RD11, ADC, tag: UxV 2*thr dO3RD11
— Entries 263
T Mean 10.25
= RMS 23.92
o= Integral 260
= X2 / ndf 18.09/ 16
= ampl-G 472.2 + 33.9
i const-L 17.23 + 3.57
= MPV-L 36.13 + 7.07
3 sig-L 16.87 + 5.23
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Post(a) 03RE11 , inclusive ADC
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aO3RE11
Entries 504000
Mean 0.5636
RMS 2.368
Integral 5.04e+05
X? / ndf 8/1

Constant 7.868e+06+ 164412

------------------------------------------------------------- Mean 0.5287 + 0.0001
Sigma 0.01224 + 0.00005
Mol Dttt B s, sl
100 150 200
ADC-ped
Post(d) 03RE11, ADC, tag: UxV 2*thr | dO3RE11
Sk Entries 234
_— Mean 9.379
- RMS 22.66
= Integral 232
= X2 / ndf 8.938/19
| ampl-G 385.5+29.9
i const-L 19.8+ 4.8
= MPV-L 20.76 + 7.40
— sig-L 15.02 + 6.50
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